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When the air pressure at
A is ot oan occeptobkle
level the weight ot E
holds the lever, D down, in
Turn keeping the valve, B
closed,

When the pressure at A
increases to unacceprable
levels the valve at B is
forced open. The lever T
s free to rotate about
point C, tThe fulcrum of
tThe lever., The air can
escape through the 4
holes ot the top of the
valve

When the pressure
decreases again the
weight at E closes the
valve
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A + Moving the weight so
that it is closer to, or
further from tThe fulcrum,

C, will affect how much
pressure is needed to lift
itT. The further it is from

the fulcrum, the more
pressure is required to
move The weight,
Conversely, the closer
The weight is tTo tThe
fulcrum the less pressure
s needed.

B ¢+ The valve could also
be regulated by applying
dif ferent weights to the
end of the lever, D. The
more weight, the more
pressure is required to
raise the lever
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